S 6 FEXEEEDEFARKE

BRIV KESRE2235
EERI202 B OAVIRIR2E
ERXKE-EKXK146%

BAKXF - EXK11%5

SHM7TF3IA240ERE

—_

<EREATKXF> < EBHNFAITKFE>
N2 san. e |amag|d@lAazandR KREF £ il T P )
INBRERLKE EEE 1 1 1 1 R N R 1 1 1 1
HILEEXRE BEZE 2 0 2 0 wEJIKE S EEFER 1 1 1 1
TERITEXS T 1 0 1 0 HAEMTKE =T 1 1 1 1
EEHFREBINE | HFFE 1 0 1 0 TEBEEXE RS 1 1 1 1
s E%ERFIBR  |[HEPEY 1 1 1 1 Bt XEE 1 1 1 1
dbiEE KRS BEARER 1 0 1 0 BEKRE SRS 1 1 1 1
EWT 2 BTy 3 2 2 2 R EEK BREEH 1 1 1 1
%Jﬁﬁﬂiiig éﬁég%ﬁi& 1 1 1 1 = S B e 7 7 7 7
BIER N K REEE 2 0 1 0
NTFZFETRERE  |orrommuzn| 1 0 1 0 <ERNEHHRFE>
FLIRH LK FEFE 1 1 1 1 BHEAKRFER ZE aieE | B ASER| (B
EESiPN=S REBEUFE 6 5 6 5 BIHHIRZEHREZT |BYXEZH 1 1 1 1
& i 21 11 19 | 11 BEHEFHE 4 4 4 4
EZ2REX2EEEHRER|yE- REgxaes] 8 8 8 8
<EHNENITKE> EXFF 2 2 2 2
_ K%4£ FE R |emaEm|dEB|ArEnGiR)] |AIEEERXFEARFER |eesErouren| | 0 0 0
EHEETEBAE RIS 1 0 1 0 ILEERBLXFEHAE |H%EFH 1 1 1 1
a it 1 0 1 0 ES i 17 16 16 16
< ERFILKE> B EHIREE >
AZEH ZE -2 |aman|dEm| el GEE) HEAKRFER FH aag| st AzEg|GER
:L\%E?{ﬂs 1 1 1 1 MNEHEBEEHKE REZH 1 0 1 0
st e o n BERESE 8 6 6 6 PN h : EHRAT 7R 2 0 1 0
TR NS 2 | 2| 2 | 2 5 =F 3 o] 2 | o
EEE 1 1 1 1
FLIR K g HElEE | 13 3 5 3 <ERNEERFR >
BAEEARE REEEZH 3 3 3 3 FEIRA i) P
BAFR+FiEEEERE|FESY 2 1 2 1 HBJIEEBEEMFER 1 1 1 1
BXFRE X 3 1 1 1 ERRTISEEEFKR 1 1 1 1
e EEAR—EH] 2 1 2 1| [BAfR+FEEEMAFR 2 o] o Jo
HE XL 2 2 2 2 SLhEEEEFR 1 0 1 0
BEES 6 3 3 3 )i iwbE B B R PR 8 3 8 3
TtEFZRKXE X2 2 2 2 2 BITIaEEEFKR 15 3 14 3
HEEUES 1 0 0 0 FHE SRk EEETEK 1 0 0 0
EFER2ER 9 3 6 3 FITISEEEFKR 18 1 4 1
X EFEp288 4 2 3 2 ERHFEEEMEKR 7 0 1 0
BEZE 2 1 2 1 ERRTEMESMEEESEEEZK 1 0 1 0
tEzEXE A 2 0 0 0 & i 55 9 31 9
BEFE 1 0 0 0
BEZER2E 3 0 3 0 <EE-ZEFE>
T3E 4 0 0 0 _ oHFL aiEH | GEE)
dtEmEmEXE EEE 3 2 3 2 BESEH 19 19
tEEERERE nevr—anzm| 5 2 3 2 EESEF 17 17
REEERZS 2 0 0 0 HE - HERUNE 1 1
tEEREXRE e 3 1 2 1 EE -EELFH 6 6
T&E 4 0 0 0 IENFH 8 8
[PV, o ERATA7HE] 8 5 6 5 Xk -HEDE 2 2
LRERFAT GEnEEH | 6 [ 4| 5 |4 s 5 53 53
e o] fﬁﬁ%ﬁ?% 1 1 1 1 XEFOHBESEEFICIE, BEREIEAOAF) OEEBFLEATBYET,
SEo e 1 1 1 1
e s - EBRIETEH 2 1 1 1
kil B ESR 2 1ol 1 [ o
0

Ay
=

i

[e5]

N
©

[=>]
~

N
©




